
ta

Paper : EC 601

Full Marks : 100

Time : Three hours

The figures tn the rnargln lndlcate
full mrzrks for the questlons.

Answer ang Jiue Etestions .'

1. A 6GHz electromagnetic wave propagates in
a rectangular waveguide, the spacing
between the vertical planes being 3cm.

Determine the cut-off wavelength of the
dominant mode, the guide wavelength of the

dominant mode, the corresponding group

as well as phase veloiitie s and the
characteristic wave impedance. Deduce the

5x20=100
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Contd.

equations used.
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(a)

(b)
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(d.)

(e)

a
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5x4=2O

tube

waveguide.
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(b) What is 'Hull cut-off 'magnetic field and
voltage in connection with magnetron
oscillator ? Derive the expressions for
'HuIl cut-off 'magnetic field and voltage"

7.


